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1. fepZ dh lnkcgkj fdLe gS % 
 

1. Perennial variety in case of  chilli is : 

(A) iwlk lnkcgkj  (A) Pusa Sadabahar 

(B) vdkZ yksfgr  (B)  Arka Lohit 

(C) iwlk Tokyk   (C)  Pusa Jwala 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

2. vpkj ds fy, iz;ksx dh tkus okyh fepZ dh 

fdLe gS % 

 
2. Which of the following varieties of chilli 

are used for pickle purpose ? 

(A) T;ksfr  (A) Jyoti 

(B) Co-2  (B)  Co-2 

(C) flUnwj  (C)  Sindur 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

3. vksfyvksjsflu ik;k tkrk gS % 
 

3. Oleoresins are found in : 

(A) VekVj esa  (A) Tomato  

(B) cSaxu esa  (B)  Brinjal 

(C) I;kt esa  (C)  Onion 

(D) fepZ eas  (D)  Chilli 

4. lkekU;r% rjcwt chtjfgr gksrk gS % 
 

4. Generally seedless watermelon is : 

(A) fMIykWbM  (A) Diploid  

(B) VªkbZIykWbM  (B)  Triploid  

(C) VsVªkIykWbM  (C)  Tetraploid  

(D) gSDlkIykWbM  (D)  Hexaploid  
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5. djsyk dh cht nj gS % 
 

5. Seed rate of bittergourd is : 

(A) 2&4 fdxzk-@gs-  (A) 2-4 kg/ha. 

(B) 4&6 fdxzk-@gs-  (B)  4-6 kg/ha. 

(C) 6&8 fdxzk-@gs-  (C)  6-8 kg/ha. 

(D) 1&2 fdxzk-@gs-  (D)  1-2 kg/ha. 

6. izfr O;fDr izfr fnu lCth dh ek¡x gS % 
 

6. Total recommended requirement of 

vegetable per capita per day is : 

(A) 300 xzke  (A) 300 grams  

(B) 245 xzke  (B)  245 grams  

(C) 200 xzke  (C)  200 grams  

(D) 120 xzke  (D)  120 grams  

7. ijoy lCth gS % 
 

7. Pointed gourd is a : 

(A) ,do”khZ;  (A) Annual vegetable crop  

(B) f}o”khZ;  (B)  Biennial vegetable crop  

(C) cgqo”khZ;  (C)  Perennial vegetable crop  

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

8. VekVj gS % 
 

8. Tomato is  a : 

(A) yEch vof/k dk ikS/kk  (A) Long day plant  

(B) de vof/k dk ikS/kk  (B)  Short day plant  

(C) izdk’k vizHkkoh  (C)  Day neutral   

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  
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9. eVj esa lQsn pw.khZ; QQ¡wnh ds fu;a=.k ds 

fy, iz;ksx fd;k tkrk gS % 

 
9. Fungicide for controlling powdery 

mildew disease of pea is : 

(A) dSIVku  (A) Captan  

(B) dsjkFksu   (B)  Karathane  

(C) b.MksfQy&,e&45  (C)  Indophil-M-45 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

10. nqxkZiqj ds’kj ,d fdLe gS % 
 

10. Durgapur Keshar is a variety of : 

(A) [kjcwt dh  (A) Muskmelon  

(B) rjcwt dh  (B)  Watermelon  

(C) [khjk dh  (C)  Cucumber 

(D) ykSdh  dh  (D)  Bottlegourd  

11. rjcwt dh cht nj gS % 
 

11. Seed rate of muskmelon crop is : 

(A) 1-5&2 fdxzk-@gs-  (A) 1.5-2 kg/ha. 

(B) 3&4 fdxzk-@gs-  (B)  3-4 kg/ha. 

(C) 5&6 fdxzk-@gs-  (C)  5-6 kg/ha. 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

12. ‘kdjdUn Qly gS % 
 

12. Sweet potato is a crop : 

(A) okf”kZd  (A) Annual  

(B) cgqokf”kZd  (B)  Perennial 

(C) f}okf”kZd  (C)  Biennial  

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  
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13. fuEufyf[kr esa ls fdlesa vf/kd ‘kdZjk ik;k 

tkrk gS \ 

 
13. Which of the following vegetables is 

good source of carbohydrate ? 

(A) VekVj  (A) Tomato  

(B) dn~nw  (B)  Pumpkin 

(C) jrkyw  (C)  Tapioca 

(D) fepZ  (D)  Chilli 

14. vkbZ- vkbZ- oh- vkj- fLFkr gS % 
 

14. I. I. V. R. is located at : 

(A) cjsyh esa  (A) Bareilly   

(B) okjk.klh esa  (B)  Varanasi  

(C) y[kuÅ eas  (C)  Lucknow  

(D) ubZ fnYyh esa  (D)  New Delhi  

15. lgkjk nsus ls xq.koŸkk vPNh gks tkrh  

gS % 

 
15. Staking is essential for quality production 

in : 

(A) yksfc;k esa   (A) Cowpea 

(B) esFkh esa   (B)  Fenugreek  

(C) fpfpUMk esa   (C)  Snakegourd 

(D) pkSykbZ esa   (D)  Amaranthus  
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16. VekVj esa Qy yxus ds fy, mi;qDr jkr dk 

rkiØe gS % 

 
16. Most suitable night temperature for fruit 

setting in tomato : 

(A) 12-20°C  (A) 12-20°C 

(B)  20-25°C  (B)  20-25°C 

(C)  25-30°C  (C)  25-30°C 

(D)  28-32°C  (D)  28-32°C 

17. vdkZ vHk; iztkfr gS % 
 

17. Arka Abhay is a variety of : 

(A) fepZ dh  (A) Chilli  

(B) VekVj dh  (B)  Tomato  

(C) cSaxu dh  (C)  Brinjal  

(D) fHk.Mh dh  (D)  Okra  

18. lcls vf/kd fepZ dk mRiknu gksrk  

gS % 

 
18. Largest production area of chillies is  

in : 

(A) egkjk”Vª esa  (A) Maharashtra  

(B) rfeyukMq eas  (B)  Tamil Nadu 

(C) vkU/kz izns’k eas  (C)  Andhra Pradesh  

(D) mŸkj izns’k eas  (D)  U. P. 
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19. dqy lCth mRiknu dk lcls vf/kd mRiknu 

gksrk gS % 

 
19. The vegetable crop that is highest 

production share of total vegetable 

production : 

(A) cSaxu dk  (A) Brinjal 

(B) vkyw dk  (B)  Potato  

(C) VekVj dk  (C)  Tomato 

(D) fHk.Mh dk  (D)  Okra 

20. dkSu&lk ns’k lcls vf/kd lCth dk mRiknu 

djrk gS \ 

 
20. Which country is 1st in vegetable 

production ? 

(A) tkiku  (A) Japan 

(B) baXyS.M  (B)  England 

(C) Hkkjr  (C)  India 

(D) phu  (D)  China 

21. dkSu&lh lCth Qyh dgykrh gS \ 
 

21. Which vegetable is grown as a ‘Pod’ ? 

(A) dkuZ  (A) Corn  

(B) eVj  (B)  Pea 

(C) ikrxksHkh  (C)  Cabbage 

(D) chUl  (D)  Beans 
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22. lse gS % 
 

22. Cluster beas is a : 

(A) Loijkfxr  (A) Self-pollinated  

(B) ijijkfxr  (B)  Cross-pollinated  

(C) dHkh&dHkh ijijkfxr  (C)  Often cross-pollinated  

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

23. fepZ esa fo”kk.kq jksx dk izlkj.k gksrk gS % 
 

23. Virus disease of chilli are spread by : 

(A) lQsn eD[kh }kjk  (A) White fly 

(B) fFkzIl }kjk  (B)  Thrips  

(C) ekgw¡ }kjk  (C)  Aphids  

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

24. VekVj dh :V ukWV fuesVksM ds izfr 

lgu’kfDr fdLe gS % 

 
24. Root knot nematodes resistant variety of 

tomato is : 

(A) lsysD’ku&120  (A) Selection-120 

(B) iwlk migkj  (B)  Pusa Uphar 

(C) iwlk ‘khry  (C)  Pusa Sheetal  

(D) iwlk :ch  (D)  Pusa Ruby 
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25. d`”.kk ,d ladj iztkfr gS % 
 

25. Krishna is a hybrid variety of : 

(A) VekVj dh  (A) Tomato  

(B) cSaxu dh  (B)  Brinjal 

(C) fepZ dh  (C)  Chilli 

(D) vkyw dh  (D)  Potato 

26. fyfVy yhQ dyZ fo”kk.kq jksx izlkfjr gksrk  

gS % 

 
26. Little leaf curl virus disease is transmitted 

by : 

(A) fFkzIl }kjk  (A) Thrips  

(B) ekgw¡ }kjk  (B)  Aphid  

(C) lQsn eD[kh }kjk  (C)  White fly 

(D) mi;qZDr lHkh  (D)  All of the above  

27. cSaxu dk Hk.Mkj.k rkiØe gS % 
 

27. Storage temperature of brinjal is : 

(A) 5&6 °ls-  (A) 5-6 °C 

(B) 7&8 °ls-  (B)  7-8 °C 

(C) 10&11 °ls-  (C)  10-11 °C 

(D) 13&14 °ls-  (D)  13-14 °C 
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28. Hkkjr esa dqy mRikfnr {ks= dk lCth ds 

vUrxZr fdruk izfr’kr {ks=Qy gS \ 

 
28. In India vegetable crop occupies how 

much percent  area to total cultivated  

area ? 

(A) 1.8 izfr’kr  (A) 1.8% 

(B) 2.8 izfr’kr  (B)  2.8% 

(C) 3.8 izfr’kr  (C)  3.8% 

(D) 4.8 izfr’kr  (D)  4.8% 

29. fHk.Mh dh xzh”edkyhu Qly gsrq izfr gsDVs;j 

cht nj gS % 

 
29. Seed rate of okra in summer season crop 

per hectare is : 

(A) 18&20 fdxzk-  (A) 18-20 kg 

(B) 20&25 fdxzk-  (B)  20-25 kg 

(C) 10&12 fdxzk-  (C)  10-12 kg 

(D) 5&10 fdxzk-  (D)  5-10 kg 

30. ^jtuh* fdLe gS % 
 

30. ‘Rajani’ is a variety of : 

(A) eVj dh   (A) Pea 

(B) yksfc;k dh  (B)  Cowpea 

(C) lse dh  (C)  Garden bean  

(D) ÝsUp chu dh  (D)  French bean  



 

HORT–5007 ( 12 )  Set-C 

31. ijoy dk izlkj.k gksrk gS % 
 

31. Pointed gourd is propagated by : 

(A) tM+ dh dye ls   (A) Root cutting  

(B) cht ls   (B)  Seed  

(C) rus dh dye ls   (C)  Stem cutting  

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

32. gsVjksLVkbyh ik;k tkrk gS % 
 

32. Heterostyly is found in : 

(A) fepZ esa  (A) Chilli  

(B) VekVj eas  (B)  Tomato  

(C) cSaxu eas  (C)  Brinjal 

(D) ÝsUp chu esa  (D)  French bean 

33. ^vdkZ cgkj* ,d iztkfr gS % 
 

33. ‘Arka Bahar’ is a cultivar of : 

(A) ijoy dh  (A) Pointed gourd  

(B) ulnkj rqjbZ dh  (B)  Ridegourd  

(C) ykSdh dh  (C)  Bottlegourd  

(D) fVUMk dh  (D)  Roundgourd  

34. fuEufyf[kr lfCt;ksa esa ls dkSu Qy ugha gS \ 
  

34. Which of the following vegetables is not 

a fruit ? 

(A) fHk.Mh  (A) Okra  

(B) cSaxu  (B)  Brinjal  

(C) VekVj  (C)  Tomato 

(D) QwyxksHkh  (D)  Cauliflower 
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35. djsyk esa dM+okgV fdlds dkj.k gksrh  

gS \ 

 
35. Bitterness is bittergourd is due  

to : 

(A) dsjsVhu  (A) Cheratin  

(B) dqdjfcVsflu  (B)  Cucurbitacin  

(C) dsjksVhu  (C)  Carotine 

(D) eksesfMZflMhu  (D)  Momerdicidin  

36. fuEufyf[kr esa ls fdl lCth esa lcls vf/kd 

gsVjksfll gksrk gS \ 

 
36. Maximum heterosis is present in which of 

the following vegetables ? 

(A) VekVj  (A) Tomato  

(B) vkyw  (B)  Potato  

(C) cSaxu  (C)  Brinjal 

(D) I;kt  (D)  Onion 

37. fepZ dk dkSu&lk Hkkx vf/kd rh[kk gksrk  

gS \ 

 
37. Most pungent part of chilli is : 

(A) cht  (A) Seeds 

(B) isjhdkiZ  (B)  Pericarp  

(C) IyslsUVk  (C)  Placenta 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  
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38. iŸkhnkj lfCt;ksa dk Hk.Mkj.k fd;k tkrk gS % 
 

38. Leafy vegetables are stored through : 

(A) gok cUn ikyhFkhu ls  (A) Air blasting  

(B) oSD;we dwfyax ¼BUMh gok½ ls  (B)  Vacuum cooling  

(C) Ýhftax ls  (C)  Freezing  

(D) BaMs dejs esa j[kus ls   (D)  Room cooling  

39. fdl lCth esa vU; dh vis{kk vf/kd ukbVªkstu 

dh vko’;drk gksrh gS \ 

 
39. Which vegetable crop requires more 

amount of nitrogen as compared to  

others ? 

(A) vkyw  (A) Potato  

(B) VekVj  (B)  Tomato  

(C) fHk.Mh  (C)  Okra  

(D) ikyd  (D)  Spinach   

40. iwlk ikoZrh fdLe gS % 
 

40. Pusa Parvati is a variety of : 

(A) yksfc;k dh  (A) Cowpea  

(B) eVj dh  (B)  Garden pea 

(C) DyLVj chUk ¼lse½ dh  (C)  Cluster bean  

(D) ÝsUp chu dh  (D)  French bean  

41. ukWu&DykbesfDVªd ds vUrxZr lCth gS % 
 

41. Which vegetable crop is non-climacteric 

in nature ? 

(A) [kjcwtk   (A) Muskmelon  

(B) VekVj  (B)  Tomato  

(C) rjcwt  (C)  Watermelon  

(D) [khjk  (D)  Cucumber  
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42. fdl lCth dh vf/kd ladj iztkfr dh [ksrh 

dh tkrh gS \ 

 
42. In which vegetable crop maximum 

number of hybrid variety is cultivated ? 

(A) VekVj   (A) Tomato  

(B) cSaxu  (B)  Brinjal 

(C) ikrxksHkh   (C)  Cabbage  

(D) QwyxksHkh  (D)  Cauliflower 

43. dY;k.kiqj lksuk iztkfr gS % 
 

43. Kalayanpur Sona is a variety of : 

(A) fV.Mk dh  (A) Roundgourd 

(B) ijoy dh  (B)  Pointed gourd 

(C) djsyk dh  (C)  Bittergourd 

(D) rqjbZ dh  (D)  Spongegourd 

44. iwlk fo’ks”k iztkfr gS % 
 

44. Pusa vishesh is a variety of : 

(A) djsyk dh  (A) Bittergourd  

(B) ykSdh dh  (B)  Bottlegourd  

(C) rqjbZ dh  (C)  Spongegourd  

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

45. dk’kh e/kq iztkfr gS % 
 

45. Kashi Madhu is a variety of : 

(A) rjcwt dh  (A) Watermelon 

(B) [kjcwt dh  (B)  Muskmelon 

(C) [khjk dh  (C)  Cucumber 

(D) djsyk dh  (D)  Bittergourd  
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46. vdkZ lqfHk/kk iztkfr gS % 
 

46. Arka Subhidha is a variety of : 

(A) ÝsUp chUl dh  (A) French beans  

(B) eVj dh  (B)  Pea 

(C) yksfc;k dh  (C)  Cowpea  

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

47. ^LohV cukuk* iztkfr gS % 
 

47. ‘Sweet Banana’ is a variety of : 

(A) f’keyk fepZ dh  (A) Sweet pepper  

(B) fepZ dh  (B)  Chilli 

(C) ikrxksHkh dh  (C)  Cabbage 

(D) VekVj dh  (D)  Tomato  

48. dk’kh xaxk iztkfr gS % 
 

48. Kashi Ganga is a variety of : 

(A) ykSdh dh  (A) Bottlegourd 

(B) dn~nw dh  (B)  Pumpkin  

(C) djsyk dh  (C)  Bittergourd 

(D) rqjbZ dh  (D)  Sponge gourd  

49. dkSu&lh lCth foVkfeu C dk le`) lzksr 

gS \ 

 
49. Which vegetable is a rich source of 

Vitamin C ? 

(A) cSaxu  (A) Brinjal  

(B) QwyxksHkh  (B)  Cauliflower 

(C) fepZ  (C)  Chilli 

(D) VekVj  (D)  Tomato  
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50. Qksfd±x fdl lCth dk fodkj gS \ 
 

50. Forking is a problem in which vegetable 

crop ? 

(A) fHk.Mh  (A) Okra  

(B) ewyh  (B)  Radish  

(C) VekVj  (C)  Tomato  

(D) vkyw  (D)  Potato  

51. Lo.kZ js[kk fdLe gS % 
 

51. Swarn Rekha is a variety of : 

(A) ijoy dh  (A) Paintedgourd 

(B) fV.Mk dh  (B)  Roundgourd 

(C) djsyk dh  (C)  Bittergourd 

(D) ykSdh dh  (D)  Bottlegourd 

52. yksfc;k dh ‘kq”d izfrjks/kh fdLe gS % 
 

52. Dry resistant variety of cowpea is : 

(A) iwlk dksey   (A) Pusa Komal  

(B) iwlk _rqjkt  (B)  Pusa Rituraj  

(C) iwlk clUrh   (C)  Pusa Basanti  

(D) vdkZ xfjek  (D)  Arka Garima  

53. iwlk vyadkj fdLe gS % 
 

53. Pusa Alankar is a variety of : 

(A) ykSdh dh  (A) Bottlegourd  

(B) dn~nw dh  (B)  Pumpkin  

(C) rqjbZ  dh  (C)  Spongegourd 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  
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54. lqxj csch fdLe gS % 
 

54. Sugar baby is a variety of : 

(A) [kjcwtk dh  (A) Muskmelon  

(B) rjcwt dh  (B)  Watermelon  

(C) [khjk  dh  (C)  Cucumber  

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

55. elkys dk fdruk izfr’kr fepZ mRiknu gS \ 
 

55. Share of chilli in total production of 

spices is : 

(A) 40 izfr’kr   (A) 40% 

(B) 45 izfr’kr   (B)  45% 

(C) 30 izfr’kr   (C)  30% 

(D) 50 izfr’kr   (D)  50% 

56. pkSykbZ lCth gS % 
 

56. Amaranthus is a : 

(A) B.Ms ekSle dh   (A) Cool season vegetable  

(B) xeZ ekSle dh   (B)  Warm season vegetable  

(C) lnhZ ds ekSle dh   (C)  Winter season vegetable  

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

57. fdl ns’k esa fHk.Mh dk mRiknu lcls vf/kd 

gksrk gS \ 

 
57. Country leading in Okra vegetable 

production is : 

(A) vÝhdk   (A) Africa 

(B) Hkkjr  (B)  India 

(C) phu  (C)  China 

(D) gkWyS.M  (D)  Holland 
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58. [khjk dk tUeLFkku % 
 

58. Origin of  cucumber : 

(A) phu  (A) China 

(B) Hkkjr  (B)  India 

(C) vÝhdk   (C)  Africa 

(D) eSfDldks  (D)  Mexico  

59. ch- Vh- cSaxu 
-------------------------- 

ds lkis{k iz;ksx fd;k 

tkrk gSA 

 
59. Bt Brinjal is used against : 

(A) chfVy  (A) Beetle  

(B) Qy eD[kh  (B)  Fruit fly  

(C) Nsnd  (C)  Borer  

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

60. cksufoys iztkfr gS % 
 

60. Bonneville is a variety of : 

(A) eVj dh  (A) Peas  

(B) VekVj dh  (B)  Tomato  

(C) chUl dh  (C)  Beans 

(D) vkyw dh  (D)  Potato  

 

 

 

 

 

 

 

 

 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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